Programme:

www.environdec.com

Programme operator:
Regional Hub:

EPD registration
number:

Date of publication:

Revision Date:

Date of validity:

Geographical scope:

i

:; " s o o ;
AN T -,,.-__.
’:F I:ﬂﬁ?{;&" PHFRFFEF oo v

¥ i 1?7--- .

LR RRRR TR LT |

T s
A
r: rall Y

£ -

L ] e A—
f*gm'u FFr e

e 1.'\"’-'\1'"
- " . "] el T
» FrEpEaes
. '-"r » m{:::nhnti*"'* 8
. o oA - \EQQ;¢:Q¢;‘h
L 3 o ‘:"\__ Z -
R IR o TR B A
% Swrrr o I' "
e e
P S

LR
-

”~

1\1\1\436J¢¢{hxf;1
-l::-l.-l.-lq'i‘-‘--qq-l iud.--:.-

T YT T L TR L LR

L}tﬂ“ﬂ! y

........ R R R

(AR UL TR

R AR

% —_—
LAY

LU

e TR -

L b e

' §

ereres

N ads
LT fl'ifffr"fff-'ffff_f,rfff;’;##,"Fr” T e

LA

Y |
um_“.mm&_“11&!:!;&5.&&?!;{{{'{!']'.“

e
-\...

=R —— ,_.._._- el

;;;;;

e,
g L '. =
L deg T T
¥ —_ A ‘\“.

77777

_T_LT-.‘__+_'F
-

ECO PLATFORM “Hmm'g
e
'“u.gi": :

- .I-‘ l"?_‘-“: R

" ir 11

)

& r X x

LRI T
4 l—l‘“ 1‘

- L

d
L



http://www.environdec.com/
http://www/
http://www.environdec.com/

ENVIRONMENTAL PRODUCT DECLARATION

Grupo Acerero
(GASA)

General information

The product

Content declaration

Recycled material
content

Distribution
packaging

Biogenic Carbon
Content information

LCA Rules

Environmental
performance

Differences versus

previous versions

e EPD”
LATIN AMERICA

Verification and
registration

Certification

Contact information

References



This EPD was prepared in conformity with the international standard ISO 14025 and EN
15804:2012+A2:2019 Sustainability of Construction Works; for the steel reinforcing bar manu-
factured from steel scrap.

The EPD owner has the sole ownership, liability, and responsibility for the EPD. EPD of construc-

tion products may not be comparable if they do not comply with the Product Category Rules
(PCR) “Construction Product” and the EN 15804:2012+A2:2019 Sustainability of Construction
Works — Environmental Product Declarations - Core rules for Central Product Classification: UN
CPC 4124 Bars and rods, hot rolled, of iron or steel; Environmental product declarations within
the same product category but from different programs may not be comparable.




GRUPO
A C E R E R 0 3 | ENVIRONMENTAL PRODUCT DECLARATION
W

1. GRUPO ACERERO (GASA) e EPD”

LATIN AMERICA

GRUPO ACERERO S.A. de CV was bom in San Luis Potosi more than 25 years ago, the product of an idea that
became a reality and that today is a passion.

It is an expanding Mexican company, located in the center of the country, with great diversification in products,
which found in scrap recycling the key to having an installed capacity of 1,000,000 tons of products, which has
made it the 5th largest rod producer, in addition to venturing as a steel plate producer in Mexico.

Our products become the heart and foundations of multiple projects from which industrial buildings and brid-
ges arise that contribute to the growth of cities throughout Mexico, Latin America and the United States.

The technical knowledge, human capital and experience of each of our collaborators, who proudly belong to
the company, make our annual production:

More than More than
thousand tons of thousand tons of thousand tons of thousand tons of
liquid steel. rod. wire drawing. wire rod.

GASA is the fifth
largest supplier of

Second largest

producer of

sheet metal in steel in Mexico to

Mexico. the industry.




GRUPO
A c E R E R o 4 | ENVIRONMENTAL PRODUCT DECLARATION
W

2. GENERAL INFORMATION s 1 2 D3

LATIN AMERICA

PRODUCT: STEEL REINFORCING BAR OF SEVERAL CALIBERS MANUFACTURED FROM STEEL SCRAP
Name of the manufacturer: GRUPO ACERERO S.A. de C.V.
Steel reinforcing bar used to reinforce concrete in the construction industry. The surface of the rebar is corrugated to limit the relative longitudinal movement between
Description of the construction product: the steel and the surrounding concrete.
Declared unit: 1000 kg of steel reinforcing bar manufactured from steel scrap.
Description of the main product components and or materials: 93% Steel manufactured using scrap steel as source of iron.
Life cycle stages not considered: The modules: A4, A5, B1, B2, B3, B4, B5, B6, B7.

This environmental product declaration is based on information modules that do not cover aspects of construction stage and use. It contains detailed information on
the stage of input materials used for the generation of raw material and central process, modules A1, A2, A3, approximations of scenarios C1, C2, C3, C4 and D based

on national statistics.

Statement content: . : .
- Definition of the product. - Declared unit. - Environmental performance.

-Content declaration. - System boundary. - Evidence and verifications.

The following statement on the requirements for comparability of EPDs, adapted from ISO 14025: “EPDs within the same product category but registered in different
EPD programmes, or not compliant with EN 15804, may not be comparable. For two EPDs to be comparable, they must be based on the same PCR (including the same
version number) or be based on fully-aligned PCRs or versions of PCRs; cover products with identical functions, technical performances and use (e.g. identical declared/

Comparability of EPD of construction products functional units); have equivalent system boundaries and descriptions of data; apply equivalent data quality requirements, methods of data collection, and allocation
methods; apply identical cut-off rules and impact assessment methods (including the same version of characterisation factors); have equivalent content declarations;
and be valid at the time of comparison. For further information about comparability, see EN 15804 and ISO 14025.”

Manufacturing Plant
Eje 122 S/N, Esq. Avenida CFE, Zona Industrial 78395 San Luis Potosi, S.L.P México
Eje 108 S/N, Zona Industrial 78395 San Luis Potosi, S.L.P México
Sites for which this EPD is representative Jose Armando Morquecho amorquecho@fonderia.com
Silvia Chavez Ramirez schavez@fonderia.com
Tel: +52(444) 8707195 Cel: +52(444)4512935
https: /www.grupoacerero.com.mx

Intended Public: B2B (Business to Business)


mailto:amorquecho@fonderia.com
mailto:schavez@fonderia.com
https://www.grupoacerero.com.mx/

GRUPO
ACERERO 6 | ENVIRONMENTAL PRODUCT DECLARATION

3. THE PRODUCT — 0

LATIN AMERICA

Technical specifications:

The steel reinforcing bar (rebar) manufactured by GRUPO ACERERO S.A. de CV. s used as rein-
forcement of concrete structures in the construction industry.

S omm b/
71

3 3/8" 0.375 9.5 0.11 0.376 0.560
4 1/2" 0.500 12.7 0.20 127 0.668 0.994
5 5/8" 0.625 15.9 0.31 198 1.043 1.552
6 3/4" 0.750 19 0.44 285 1.502 2.235
8 1" 1.000 25.4 0.79 507 2.670 3.973
10 1"1/4 1.270 31.8 1.27 794 4.303 6.225
12 1"1/2 1.500 38.1 1.76 1140 6.464 8.938

® Table 1. Technical specifications NMX-B-506

The rod manufactured by GRUPO ACERERO complies with the highest quality standards, adhe-
ring to national and international standards. NMX-B-506-CANACERO-2019, ASTM-A615M and
ASTM-A706M

In addition, special orders of products with different physical and chemical characteristics are

manufactured according to the requirements of our market (weldability, ductility, diameters and 4 1/2 0.500 12.7 0.20 127 0.668 0.994
lengths). 5 5/8” 0.625 15.9 0.31 198 1.043 1.552
6 3/4” 0.750 19 0.44 285 1.502 2.235
The characteristics of steel reinforcing bars produced by GRUPO ACERERO are provided hereafter: 3 1 1.000 55 4 0.79 507 5670 3.973
10 1”71/4 1.270 31.8 1.27 794 4.303 6.225

) Table 2. Technical specifications ASTM A706/A706 M



GRUPO
A C E R E R o 7 | ENVIRONMENTAL PRODUCT DECLARATION
W

3. THE PRODUCT

Dialing

a Manufacturer identification GASA

b No.Rod designation 3,4,5,6,8,10,12
Designation of the standard (NMX-B-506-CANACERO-2019) N
Standard designation (Standard ASTM A-706) W

¢ Standard designation (Standard /ASTM A-615) S
Standard designation (Standard ASTM A-706/ASTM A-615) WS

d Rod Grade Identification 42,52,60

e Denomination of the country of origin “Mexico” MEX

i b & 4

Rod marking under the Official Standard ASTM A-706

Z A PSR PR ARE Al r'lr'ﬁi:—"ﬂ:' iEf'i:f"‘":H:’:is”ifﬁ-"i"i"'
-

Rod marking under the Official Standard ASTM A-615
- - - bd - e - - - - i - - i e

“DUAL" type rod marking / (compliance with both Official Standards)

® Table 3. Mechanical properties

L L)
sy M

-r*,' -
-"aﬂ-’ﬂl.

ot S50

]
4

tl‘

B |

LATIN AMERICA

EPD’




GRUPO
ACERERO 8 | ENVIRONMENTAL PRODUCT DECLARATION

4. CONTENT DECLARATION

smener EP D
LATIN AMERICA

The steel rebar manufactured from steel scrap is produced in an electric arc furnace with a percentage greater  For reasons of confidentiality, a more detailed description of the composition of the Billet is not made, which is the
than 93% of recycled material, the material contained in this product is found in Table 5. The total raw materials ~ primary raw material of the steel rebar.

that make up the product were not declared, only the materials with a more representative percentage that

make up the billet.

Steel scrap Not applicable >93 % % Not applicable
Anthracite Anthracite 1% 0% 8029-10-5
Ferro silico manganese  Manganese and silicon 1% 0% 8029-10-5
Dolomite Calcum carbonate 2% 0% 16389-88-1
magnesium
Others Not applicable <1% 0% Not applicable

*Steel manufactured in the Industrial Center of GRUPO ACERERO uses 100% steel scrap as source of iron.

Iron content in steel

Carbon content in steel

Carbon content in steel

Iron ore sintering agent
steel foundry

Carbon content in steel

Not listed

Not listed

Not listed

Not listed

Not listed

** Packaging: The product transported to customers packed with a steel rebar and a label detailing the product information, but this is an insignificant quantity, which not included in the

previous table.

1 According to EN15804 declaration of material content of the product shall List of Substances of Very High Concern (SVHC) that are listed by European Chemicals Agency.

® Table 5. Content product.



GRUPO
A c E R E R o 9 | ENVIRONMENTAL PRODUCT DECLARATION
W

5. RECYCLED MATERIAL
CONTENT

In the Industrial Center of GRUPO ACERERO manufactured the steel rebar is
manufactured from steel scrap with a percentage greater than or equal to 93%
of recycled material.

6. DISTRIBUTION
PACKAGING

Packaging: The product is sent to the customers in no packaging, only the casting
number distinction.

LATIN AMERICA

/. BIOGENIC CARBON
CONTENT INFORMATION

The biogenic carbon content of the product and packaging is presented in the

Table.

Content

Unit

Quantity

product

Biogenic carbon contained in the

Kg CO,eq

1.247

@ Table 1. Information on biogenic content

EPD’



GRUPO
ACERERO 0 SVROMENAro0ucr occsaron P —— D) ©

LATIN AMERICA
8 I m Rl l LES @ Table 6. System boundary
m

Environmental potential impacts were calculated conformity to EN
15804:2012+A2:2019 sustainability of construction works and PCR
2019:14 Construction products Version 1.2.5 UN CPC 4124 bars and rods,
hot rolled, of iron or steel. This EPD is in accordance with ISO 14025:2006.

Environmental potential impacts were calculated through Life Cycle As-
sessment (LCA) methodology conformity to ISO 14040:2006 and ISO

A1) Raw material procurement

14044:2006. An external third-party verification process of the EPD was A1-A3 products stage A2) Transport Mandatory Mandatory Mandatory Mandatory
conducted according to General Programme Instructions for the Interna-
tional EPD® System Version 4.0. Verification includes a documental re- % A3) Manufacture
view and a validation of both the underlying LCA study and documents _ Y e
describing additional environmental information that justify data provi- AG-AS S;);;ructlon Optional for goods
ded in the EPD. A5) Construction / installation - Required for services AR AR IR0
8.1 Declared unit B1) Use
. B2) Maintenance
1000 kg of steel rod manufactured from billets that uses 93%
ferrous scrap as raw material, manufactured in 2022 by GRU- B3) Reparation
PO ACERERO at the Rolling Plant 108 and Rolling Plant 122 of
San Luis Potosi, S.L.P Mexico, used by the steel industry. con- B Usage stage B4) Replacement - Optional Mandatory Mandatory
struction as reinforcement of concrete structures. BS) Remodeling
B6) Operational energy use
8.2 System boundary B7) Operational water use
The potential environmental impacts were calculated through Life Cycle C1) Deconstruction, demolition
Assessment (LCA) methodology of steel rebar to ISO 14040:2006 and ISO @ ’
14044:2006. This study went through a critical review process in accor- @ C2) Transport
dance with ISO / TS 14071: 2014. _ : Mandatory Mandatory Mandatory Optional
According to EN 15804 section 5.2 the following type of EPD is “cradle to CEnd of life stage () C3) Waste processing
gate with modules C1-C4 and module D (A1-A3 +C+D)’. This EPD is based m C4)Final disposition
on information upstream processes and core processes, modules Al to P
A3, and approximations of scenarios C1, C2, C3, C4, and D based on cons- D Benefits and D) Reuse, recycling or energy re-
truction sector statistics in Mexico (see table 6). charges beyond the @ —— pé)te(;?/tial 2 <l Mandatory Mandatory Mandatory -
system limit .

Does not include A4-A5 Construction stage and B Usage stage. Declared unit Inclusion of reference useful life Optional Mandatory Mandatory -



GRUPO
ACERERO 11 | ENVIRONMENTAL PRODUCT DECLARATION

8. LCARULES e EPD”

LATIN AMERICA

Q) Table 7. Description of the modules included in this DAP.

Raw

material  Transport Manufactu- Trans-  Construc- |~ Mainte- Repair  Restora- Operational r?;el:::i:f Demolitio.n/ Transport WaSt? Disposal  Reuse — Recovery -

supply ring port tion facility nance tion energyuse . . Deconstruction processing Recycling - potential
Module Al A2 A3 A4 A5 B1 B2 B4 B5 B6 B7 Cl C2 C3 C4 D
Declared modules X X X ND ND ND ND ND ND ND ND X X X X X

Geography MX MX MX ND ND ND ND ND ND ND ND MX MX MX MX MX

Specific data used >90% - - - - - _ - _ _ _ _ _ _
Product variation NR - - - = - - = - - _ - - -
Site variation NR - - ~ - = - - - - - _ - -

X = Declared module; ND = No declared module; MX= México



GRUPO
ACERERO 12 | ENVIRONMENTAL PRODUCT DECLARATION

8. LCARULES cmmenes EP D

8.3 Description of information modules

D) Benefits and charges

Al) Raw materials supply A2) Transportation A3) Manufacturing C) End of life SEEEIE S
e Consumption and produc- e Transport distance of e Consumption of auxiliary inputs. e Demolition e The avoided loads, benefits
tion of raw materials the raw materials and su- e Consumption and production of e Transport final destination  of stopping the production
billet. Lapl_les tc_)tthe manufac- water. e What can be recycled. of the mineral billet
uring site. , L : :
« Consumption and produc- e Fuel consumption and . Cvlr emissions e What dgoe;s:I to fill WhthIIS
tion of electrical energy. emissions related to > WWieRE EEnErE ol wasted andinot recycled.
_ transportation require—  ® Waste treatment processes,
e Consumption and produc- — consumption of related mate-
tion of natural gas. e Transportation distance rials and energy.

for waste disposal and
treatment.



GRUPO )
ACERERQ 1 PVROWAITA MOOUCTDELATON I —— D1
LATIN AMERICA

The manufacturing process is described in Figure 1:

Flow Diagram of
steel rebar
manufactured from
steel scrap

Figure 3. Flow diagram of the rolling
mill for the manufacture of steel rod
from scrap by GRUPO ACERERO.

Refining Oven Continuous Casting

— |

Scrap yard Electric Arc Furnace

Billet Cut

Billet Storage

Strapping and Rod i — Rod Storage Shipment

Cutting and Shaping
Identification

Cooling Bed



GRUPO

8. LCARULES

8.5 Assumptions

The assumptions related to the steel rebar manufacturing process are
presented below.

The scenarios and distances associated with modules C1) De-
construction - demolition, C2) Transport, C3) Waste processing, C4)
Disposal and D) Potential for reuse, recycling or energy recovery in the
future.

According to the Latin American Steel Association (ALACERO,
2022), in Mexico, 98% of the steel generated during the demolition of
construction buildings is recycled, and only 2% reaches the landfill.

On the other hand, according to Javeriana University (Pontificia
Universidad Javeriana, Faculty of Engineering, 2014) the fuel con-
sumption involved during the demolition of buildings corresponds to
960 liters for the use of a backhoe, 1,590 liters for the use of a bac-
khoe loader, 432 liters for the use of a mobile crusher. In this same
process, the emissions of particulate matter associated with the de-
molition were obtained from Ecoinvent 3.9 “Waste concrete, not rein-
forced {CH}| treatment of, recycling | Cut-off, U".

For the transport of waste, an average distance in the State was
assumed, corresponding © 250.71 km and one truck (capacity greater
than 32 tons).

8.6 Cut-off criteria

All flows of fuel, energy, materials and supplies necessary for the
production of the steel rebar have been considered; materials that
could be used in preventive or corrective maintenance of machinery
and equipment were disregarded, as well as the use of uniforms and

ACERERO 14 | ENVIRONMENTAL PRODUCT DECLARATION

personal protective equipment or other auxiliary materials, leaving out
textile impregnated with oils or plastics and the final disposal of these
as hazardous waste.

8.7 Allocation

In the life cycle inventory, the materials necessary for the manufacture
of the recycled billet as the main raw material and subsequently of the
corrugated rod are contemplated according to the declared unit, the
allocation of materials is made for 99.4% that corresponds to the rod,
while 0.2% corresponds to the generation of slag and finally 0.4% to the
metal losses.

Slag 0.004 t 0.4%
Metal losses 0.002 t 0.2%
Rod 1 t 99.4%
Total 1.006 t 100%

©) Table 12. Allocation of by-products Steel rebar.

8.8 Time representativeness

Direct data obtained from GRUPO ACERERO is representative for 2022.

LATIN AMERICA

EPD’




GRUPO
ACERERO

15 | ENVIRONMENTAL PRODUCT DECLARATION

9. ENVIRONMENTAL PERFORMANCE

LATIN AMERICA

EPD’

9.1 Potential environmental impact

All information modules are reported and valued separately. However,
in the present EPD presents itself the total impact across all stage.

In the graph that appears below, you can see the contributions to the
different categories of environmental impact, for each of the modules
that contemplates the life cycle of the steel rebar manufactured by
GRUPO ACERERO, which presents the results of the extraction from
raw materials to the manufacturing process.

() A1.Raw materials Rod {Mx}

100%
90%
80%
70%
60%
50%
40%
30%
20%
10%

0%

(=}
o
i
2
O
|
()
oo
c
©
=
(8]
(V)
-
©
E
O

Climate change — Total
Climate change - Fossil

Climate change — Biogenic

As can be seen, the greatest environmental impacts are generated by
module A1, which corresponds to the extraction of the raw material
necessary for the manufacture of the product, showing a greater con-
tribution in the category of formation of ozone layer depletion with a
percentage of 96.05% and the formation of photochemical ozone with
a contribution above 90.95%. The smallest contributions to the impact
are found in module A2, which corresponds to the transportation mo-
dule. Additional impact categories are discussed below.

() A2.Transportation Rod {Mx}

Photochemical ozone formation

Climate change — Land use and LU change
Eutrophocation, marine

Eutrophication, freshwater 1
Eutrophication, freshwater 2

Ozone depletion
Acidification

Eutrophication, terrestrial

m Figure 4. A1-A3 Basic impact categories results.

Resource use, fossils

Resource use, minerals and metals

@ A3.Manufacturing Rod {Mx}

Water use

Water scarcity impact



GRUPO
ACERERQ  ° SVROWAITA MOOUCT DELATON P —— D) ©

LATIN AMERICA

C1) Demolition C2) Waste transport C3) Waste treatment C4) Waste disposal 2 G R e B R s

Basic impact categories : :
P & system boundary, recycling scenario

Climate change- GWP! kg CO, eq 3.31E+02 1.93E+03 2.55E+01 0.00E+00 7.10E+00 3.01E+03
Climate change- total kg CO, eq 3.46E+02 2.09E+03 2.61E+01 0.00E+00 7.26E+00 3.15E+03
Climate change- Fuel kg CO, eq 3.45E+02 2.09E+03 2.61E+01 0.00E+00 7.18E+00 3.14E+03
Climate change- Biogenic kg CO, eq 3.85E-01 8.42E-01 1.04E-02 0.00E+00 9.82E-03 6.20E+00
TR E g =LA Ve kg CO, eq 2.89E-01 5.64E-01 1.32E-02 0.00E+00 2.56E-03 1.63E+00
and LU change 2
Ozone depletion kgCFC11 eq 1.27E-05 1.31E-04 4.34E-07 0.00E+00 3.61E-08 7.04E-05
Acidification mol H+eq 1.64E+00 1.07E+01 8.25E-01 3.51E-01 2.47E-02 1.33E+01
Photochemical ozone formation kg NMVOC eq 1.98E+00 9.03E-02 2.14E-03 0.00E+00 1.83E-03 1.33E+00
Eutrophication, freshwater 1 kgP eq 9.03E-02 2.77E-01 6.57E-03 0.00E+00 5.61E-03 4.08E+00
Eutrophication, freshwater 2 kgPO, eq 2.77E-01 2.06E+00 1.84E-02 0.00E+00 6.80E-03 3.08E+00
Eutrophication, marine kgNeq 4.37E-01 1.87E+01 1.90E-01 0.00E+00 7.51E-02 3.26E+01
Eutrophication, terrestrial mol N eq 4.56E+00 1.74E+01 1.01E-01 0.00E+00 2.17E-02 1.51E+01
Resource use, fossils* M) 9.48E+03 1.27E+05 3.85E+02 0.00E+00 4.35E+01 4.33E+04
Resource use, minerals and metals* kgSb eq 8.73E-04 1.26E-03 7.14E-05 0.00E+00 1.77E-05 2.20E-02
Water use m3 depriv. 5.46E+01 1.71E+02 1.98E+00 0.00E+00 8.70E-01 6.16E+02
Water scarcity impact m3H,0 eq 1.52E+01 1.93E+03 2.55E+01 0.00E+00 7.10E+00 3.01E+03

1 This indicator accounts for all greenhouse gases except biogenic carbon dioxide uptake and emissions and biogenic carbon stored in the product. As such, the indicator is identical to GWP-total except that the CF for biogenic CO2 is set to zero.

*Disclaimer: The results of this environmental impact indicator shall be used with care as the uncertainties of these results are high or as there is limited experience with the indicator.

©) Table 14. A1-A3 Basic impact categories results



GRUPO
ACERERO

9. ENVIRONMENTAL PERFORMANCE

17 | ENVIRONMENTAL PRODUCT DECLARATION

smener EP D
LATIN AMERICA

9.2 Use of resources

Parameters describing resource use were evaluated with the Cumulated Energy Demand me-
thod version 1.09 (Frischknecht et al. 2007) except for the indicator of use of net fresh water that
was evaluated with Recipe 2016 Midpoint (H) version 1.00 (Huijbregts et al. 2017). The detailed

description of the use of resources is provided in Table 15.

Use of resources parameters

Al- A3

C1) Demolition

C2) Waste transport

C3) Waste treatment

C4) Waste disposal

D) Benefits and charges beyond the system

boundary, recycling scenario

Mg et printely @ ey eelelny el pimey ey M) 2.35E+02 2.46E+02 4.87E+00 0.00E+00 1.73E+00 2.99E+03
resources used as feedstock

Use of renewable primary energy as raw material M) 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
el /E13 @ e ls) 8 [aliielyy Eareyy (e G ene PmEny@i= || oy 2.35E+02 | 2.46E+02 4.87E+00 0.00E+00 1.73E+00 2.99E+03
ergy resources used as feedstock)

NG el alel [y Sl Ve @ el Fenedelol 2 (pUMER SR | 1.02E+04 1.35E+05 4.09E+02 0.00E+00 4.62E+01 4.62E+04
resources used as feedstock

Use of non-renewable primary energy as raw material M) 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Gl s O (20 (RSl (PINTEY GUISy) (TR SRagy ENs DAMELY | 1.02E+04 1.35E+05 4.09E+02 0.00E+00 4.62E+01 4.62E+04
energy resources used as raw materials)

Use of secondary materials kg 1.14E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.98E+00
Use of secondary renewable fuels M) 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary non-renewable fuels M) 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of fresh water m3 1.60E+00 5.45E+00 6.14E-02 0.00E+00 2.26E-02 1.70E+01

) Table 15. Basic impact categories results



GRUPO
ACERERO

9. ENVIRONMENTAL PERFORMANCE

18 | ENVIRONMENTAL PRODUCT DECLARATION

smener EP D
LATIN AMERICA

9.3 Other indicators describing waste categories

Environmental indicators describing waste generation were obtained from LCl except for back-
ground information which has been calculated using EDIP 2003 method (Hauschild and Potting,
2005). Environmental parameters describing waste generation are provided below:

@ Table 16. Other indicators describing waste categories.

Output parameter n“ C1) Demolition C2) Waste transport C3) Waste treatment

D) Benefits and charges be-

C4) Waste disposal | yond the system boundary, re-
cycling scenario

Hazardous waste 4.61E-02 8.64E-01 2.43E-03 0.00E+00 1.63E-04 3.00E-01
'Non hazardous waste kg 1.55E+02 4.55E+01 3.35E+01 0.00E+00 4.04E+01 1.33E+03
| Radioactive waste* kg 3.29E-03 5.38E-03 8.40E-05 0.00E+00 1.91E-05 2.83E-02
| Components for reuse kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
| Materials for recycling kg 1.14E+00 0.00E+00 0.00E+00 0.98E+00 0.00E+00 0.00E+00
‘Materials for energy recovery kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
| Exported electricity M) 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

*No radioactive waste is produced during GRUPO ACERERO operations.

**The column “A3) Manufacturing direct and indirect, refers to direct data and background data regarding production of ancillary materials and other processes outside GRUPO ACERERO’s facilities”.

10. Differences versus previous versions

The previous version of this EPD was published in 2018 in accordance with PCR Construction Products and Services, V2.2 2012:01. During 2023 the EPD was updated following EN 15804:2012+A2:2019

standard and PCR Construction products 2019:2014V 1.2.5



GRUPO
ACERERO

ENVIRONMENTAL PRODUCT DECLARATION

11. VERIFICATION AND REGISTRATION

Programme

Programme operator

EPD registration number:
Date of validity:

Revision date:

Date of publication (issue):
Reference year of data:
Geographical scope:

Central product classification:
Product category rules:

PCR review was conducted by:

Independent verification of the declaration data, ac-
cording to ISO 14025:2006.

Third-party verifier:
Approved by:

Procedure for follow-up of
data during EPD validity
involves third—party verifier:

CEN STANDARD EN 15804 SERVED AS THE CORE PCR

linternational EPD® System
www.environdec.com

EPD Latin America www.epdlatinamerica.com LATIN AMERICA

EPD International AB
Box 210 60
SE-100 31 Stockholm, Sweden

EPD Latin America

Chile: Alonso de Ercilla 2996, Nufioa, Santiago Chile.
Mexico: Bosques De Bohemia 2 No. 9, Bosques del Lago.
Cuautitlan Izcalli, Estado de México, México.

S-P-01234

2028-11-24

2023-11-24

2018-10-10

2022

Mexico, United States, and Latin America

UN CPC 4124 Bars and rods, hot rolled, of iron or steel

PCR 2019:14 construction products, Version 1.2.5 (EN15804:2012+A2:2019)

“==EPD

EPD registered through the fully aligned regional programme/hub: . E P D ®

LATIN AMERICA

EPD’

The Technical Committee of the International EPD® System. See www.environdec.com/TC for a list of members. Review chair: Claudia A. Pefia, University of Concepcion, Chile. The review panel

may be contacted via the Secretariat www.environdec.com/contact.
[ ]EPD process certification (Internal)

X EPD verification (External)

Ruben Carnerero

Approved EPD verifier
r.carnerero@ik-ingenieria.com
The International EPD® System

D Yes

@No


http://www.environdec.com/
http://www.epdlatinamerica.com/
http://www.environdec.com/TC
http://www.environdec.com/contact
mailto:r.carnerero@ik-ingenieria.com

GRUPO
ACERERO 2 mwronenta rropuct oecuaraon | —
12. CERTIFICATION e EPD"

%.a{{\zatlc:-n ftJ

\-.0“ ()
c‘? 2 E—
) %‘ ' s
EISOE
e 5 el d
e =3
E $ .
entidad mexicana ——

de acreditacion, a.c.

9001

(@) icontec

Recertificacion ISO 9001:2015 con alcance de: Planta Laminacion Largos 108, Planta Laminacion Largos 122 , Planta Planos 124, Planta Trefilados 132 y Corporativo Tangente.
Certificacion del Emblema Hecho en México, para toda la familia de productos fabricados, a través del Organismo IMNC (Instituto de Mexicano de Normalizacién y Certificacion A.C).
Certificacion de producto bajo la norma NMX-B-506-CANACERO-2019, a través de Organismo NYCE (Instituto de Normalizacion y Certificacion).

Acreditamos nuestros Laboratorios bajo lanorma ISO/ IEC 17025 antes la entidad mexicana de acreditacion (EMA) a.c
Certificacion de producto bajo la norma NTC 2289:2020, a través del Organismo ICONTEC (Instituto Colombiano de Normas Técnicas y Certificacion)



GRUPO
ACERERO

Eje 122 S/N, Esg. Avenida CFE, Zona
Industrial 78395 San Luis Potosi, S.L.P
México

Eje 108 S/N, Zona Industrial 78395 San
Luis Potosi, S.L.P México

Jose Armando Morquecho
amorquecho@fonderia.com

Silvia Chavez Ramirez
schavez@fonderia.com

Tel: +52(444) 8707195
Cel: +52(444)4512935

21 |

ENVIRONMENTAL PRODUCT DECLARATION

02

13. CONTACT INFORMATION

Center for Life Cycle Assessment and
Sustainable Design - CADIS

Bosques De Bohemia 2 No. 9, Bosques
del Lago.

Cuautitlan Izcalli, Estado de México,
México.

CP.54766

WWW.centroacv.mx

LCA Study: Life Cycle Assessment (LCA)
methodology of steel rebar manufactu-
red from steel scrap.

LCA Authors: Luque Claudia, Duarte
Nathalia

Contact person:
Juan Pablo Chargoy
jpchargoy@centroacv.mx

GRUPO
ACERERO

g
=
o
Q
a
w

“==EPD

<
2
0
Z
; THE INTERNATIONAL EPD® SYSTEM
™
S
m
s
=]
@)
=~

03

smener EP D
LATIN AMERICA

EPD International AB

Box 210 60, SE-100 31,
Stockholm, Sweden.
www.environdec.com

- info@environdec.com

EPD registered through the fully aligned regional
programme/hub:

mmenes EP D
LATIN AMERICA

EPD Latin America
www.epd-latinamerica.com

Chile:
Alonso de Ercilla 2996, Nufioa, Santiago Chile.

Mexico:

Bosques De Bohemia 2 No. 9, Bosques del Lago.
Cuautitlan Izcalli, Estado de México, México.
CP.54766


mailto:amorquecho@fonderia.com
mailto:schavez@fonderia.com
http://www.environdec.com/
mailto:info@environdec.com
http://www.epd-latinamerica.com/
http://www.centroacv.mx/
mailto:jpchargoy@centroacv.mx

14. REFERENCES s EP D"

LATIN AMERICA

General Programme Instructions of the International EPD® System. Version 4.0.

ALACERO. (2022). sociacidon Latinoamericana del Acero (ALACERO) El acero es
el inico material que puede ser reciclado ilimitadamente al 100%. . Obtenido de ht-

tps://

ciclado-ilimitadamente-al-100

BIEE. (2023). Base de Indicadores de Eficiencia Energética de México. Obtenido
de https://

CANACERO. (2021). Camara Nacional de la Industria del Hierro y del Acero (CA-
NACERO). Obtenido de Radiografia de la industria del acero en México 2021: https://

del_Acero_en_Mexico_2021.pdf
Concretos Reciclados. (2021). Concretos Reciclados Sitio Web. Obtenido de

ECODES. (2010). ECODES. Obtenido de https://archivo.ecodes.org/web/noti-
cias/para-que-sirve-reciclar-acero-y-como-hacerlo

Econinvent 3.8. (2022). Base de datos.

EPD. (2021). EPD System . Obtenido de https://

IMNC. (2008). NMX-SAA-14040-IMNC Gestion ambiental - Andlisis de ciclo de
vida - Principios y marco de referencia. México, D.F.: IMNC.

IMNC. (2008). NMX-SAA-14044-IMNC. Mexico D.F.: Instituto mexicano de nor-
malizacion y certificacion, A.C.

ISO 14025:2006(es) Etiquetas y declaraciones ambientales — Declaraciones
ambientales tipo lll — Principios y procedimientos

Maya Rojas, O. M. (2019). Analisis técnico econdmico para el uso de alternati-
vas de demolicion en el edificio no. 19 de la PUJ .

Norma Europea Sostenibilidad en la Construccion EN 15804:2012+A2:2019.
(2019). Norma Europea Sostenibilidad en la Construccidn.

PCR 2019:14 Construction Products V 1.2.5.. (05 de 02 de 2022). EPD System.
Obtenido de https://

Pre-Consultants. (2010). Data base manual. Method library.

SEMARNAT. (2020). Diagnostico Basico para la Gestion Integral de Residuos.
Meéxico.

GRUPO ACERERO. (2023). Informacion proporcionada por el equipo técnico.

UNESID. (2021). Unidon de Empresas Siderurgicas . Obtenido de https://unesid.
org/cifras-clave/

Boulay AM, Bare J, Beninil, Berger M, Lathuilliere MJ, Manzardo A, Margni M,
Motoshita M, Nuiez M, Valerie-Pastor A, Ridoutt B, Oki T, Worbe S, P-ster S (2018)
The WULCA consensus characterization model for water scarcity footprints: asses-
sing impacts of water consumption based on available water remaining (AWARE).
The International Journal of Life Cycle Assessment. Volume 23, Issue 2, pp 368-378.
https://doi.org/10.1007/s11367-017-1333-8.

EN 15804:2012+A1:2013 (Sustainability of construction works - Environmen-
tal product declarations - Core rules for the product category of construction pro-
ducts).

EPD International (2017) General Programme Instructions for the International
EPD® System. Version 3.0, dated 2017-12-11.

Frischknecht R, Jungbluth N, Althaus HJ, Bauer C, Doka G, Dones R, Hischier R,
Hellweg S, Humbert S, Kollner T, Loerincik Y, Margni M, Nemecek T (2007) Imple-
mentation of Life Cycle Impact Assessment Methods Data v2.0. ecoinvent report
No. 3. Swiss Centre for Life Cycle Inventories, Diibendorf.



http://www.alacero.org/noticias/el-acero-es-el-unico-material-que-puede-ser-re-
http://www.biee-conuee.net/site/index.php
http://www.canacero.org.mx/aceroenmexico/descargas/Radiografia_de_la_Industria_
http://www.concretosreciclados.com.mx/
http://www.environdec.com/home
http://www.environdec.com/
http://www.environdec.com/

14. REFERENCES s EP D"

LATIN AMERICA

Guinee JB, Marieke G, Heijungs R, Huppes G, Kleijn R, van Oers L, Wegener S,
Suh S,Udo de Haes HA, de Bruijn H, van Duin R, Huijbregts MAJ (2001). Handbook on
Life Cycle Assessment, Operational guide to the ISO standards Volume 1, 2a, 2b and
3. Springer Netherlands. DOI 10.1007/0-306-48055-7. Series ISSN 1389-6970

Hauschild M, Potting J (2005) Spatial differentiation in Life Cycle impact as-
sessment - The EDIP2003 methodology. Institute for Product Development Techni-
cal University of Denmark.

Huijbregts MAJ, Steinmann ZJN, Elshout PMF, Stam G, Verones F, Vieira M, Zijp
M, Hollander A, van Zelm R. ReCiPe2016: a harmonised life cycle impact assessment
method at midpoint and endpoint level. International Journal on Life Cycle Assess-
ment Volume 22 Issue 2. pp 138-147. https://doi.org/10.1007/s11367-016-1246-y

UN (2015) Central Product Classification (CPC) Version 2.1. Department of Eco-
nomic and Social Affairs. Statistics Division. United Nations, New York.

Wegener AS, van Oers L, Guinée JB, Struijs J, Huijbregts MAJ (2008) Normalisa-
tion in product life cycle assessment: An LCA of the global and European economic
systems in the year 2000. Science of The Total Environment. Volume 390, Issue 1.
Pages 227-240. ISSN 0048-9697. https://doi.org/10.1016/j.scitotenv.2007.09.040.

General Programme Instructions of the International EPD ® System. Version 3.01




	Environmental Product Declaration
	Content
	Número de diapositiva 3
	1. GRUPO ACERERO (GASA)
	2. GENERAL INFORMATION
	3. THE PRODUCT
	3. THE PRODUCT
	4. CONTENT DECLARATION
	7. BIOGENIC CARBON
CONTENT INFORMATION
	8. LCA RULES
	8. LCA RULES
	8. LCA RULES
	Número de diapositiva 13
	8. LCA RULES
	9. ENVIRONMENTAL PERFORMANCE
	Número de diapositiva 16
	9. ENVIRONMENTAL PERFORMANCE
	9. ENVIRONMENTAL PERFORMANCE
	11. VERIFICATION AND REGISTRATION
	12. CERTIFICATION
	13.	CONTACT INFORMATION
	14. REFERENCES
	14. REFERENCES

